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P ratiol | ratio2 | ratio3 | ratiod
0.1 | 0.0370 | 0.0370 | 0.0689 | 0.0689
0.2 | 0.0576 | 0.0576 | 0.0576 | 0.0576
0.3 | 0.0548 | 0.0548 | 0.0548 | 0.0548
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1.0 | 0.0408 | 0.0284
2.0 | 0.0407 | 0.0288
3.0 | 0.0442 | 0.0299
4.0 | 0.0401 | 0.0275
5.0 | 0.0442 | 0.0307
6.0 | 0.0431 | 0.0304
7.0 | 0.0428 | 0.0309
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9.0 | 0.0415 | 0.0295
10.0 | 0.0437 | 0.0316
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m ratiol | ratio2 | ratio3 | ratio4
1.0 | 0.0446 | 0.0556 | 0.0556 | 0.0446
2.0 | 0.0488 | 0.0488 | 0.0488 | 0.0430
3.0 | 0.0444 | 0.0498 | 0.0498 | 0.0444
4.0 | 0.0449 | 0.0449 | 0.0449 | 0.0405
5.0 | 0.0463 | 0.0514 | 0.0463 | 0.0413
6.0 | 0.0482 | 0.0482 | 0.0482 | 0.0441
7.0 | 0.0436 | 0.0463 | 0.0463 | 0.0436
8.0 | 0.0478 | 0.0514 | 0.0514 | 0.0478
9.0 | 0.0472 | 0.0506 | 0.0506 | 0.0472
10.0 | 0.0522 | 0.0522 | 0.0522 | 0.0485
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